Customer Informatlon Sheet

DRAWING No.: M80-4000000FG-XX-XXX-00-000 SHEET 4 OF 6 IF IN DOUBT - ASK | NOT TO SCALE THIRD ANGLE PROJECTION | ALL DIMENSIONS IN mm
SPECIFICATIONS: M80-305/306/307
VATERTAL COAX CRIMP AND SOLDER CONTACTS ONLY No. 0 CONTACTS
MOULDING: GLASS FILLED PPS, UL94V-0, BLACK
COAX CONTACT: N _
BODY, SLEEVE, END PLUG = COPPER ALLOY DIM C !
INNER CONTACT,LATCHING COLLAR = BERYLLIUM COPPER
INSULATOR = PTFE I DIM ‘B |
JACKSCREW, CIRCLIP = STAINLESS STEEL L ‘ ) Woxo 4 155
FINISH: ] ~>‘ ’<—— x M2x0. :
COAX CONTACT 4.50 PART ZS_EZCTION MAX |
BODY,SLEEVE, INNER CONTACT, END PLUG = GOLD in
LATCHING COLLAR: = NICKEL e ¥
ELECTRICAL: DIM A
INSULATION RESISTANCE = 100MO) MIN 0 50 — 4.0 | (3.4
COAX CONTACT: | 4.00 TYP 1 ! '
FREQUENCY RANGE = 6GHz o e Y |
IMPEDANCE = 500) | 1{ ! |
V.SW.R = 1.05 + (0.04 x FREQUENCY) GHz MAX . . |
CONTACT RESISTANCE = 6m() MAX / \ f’\ m\ I
INSULATION RESISTANCE = 10°MQ) @250V AC 5.5 gt T = i M N - -
OPERATING VOLTAGE = 180V AC @ 500mA MAX _J %J M X M80-308/309
MAXIMUM VOLTAGE = 1000V AC x No. OF CONTACTS
MECHANICAL : /L - /
DURABILITY = 500 OPERATIONS L/ _ =
COAX CONTACT: 2 x M2x0.4 CONTACT A !
INSERTION FORCE = 8N MAX |
WITHDRAWAL FORCE = 0.5N MIN | . .
ENVIRONMENTAL ; | ! %
TEMPERATURE RANGE = -55°C TO +125°C ! .
PACKING: Eﬂ lMOA-X3 |
BAG 7.00 - : =
FOR COMPLETE SPECIFICATION SEE COMPONENT | |
SPECIFICATION C005XX (LATEST ISSUE) 1 . . 7 O
[1.80 | | | ¢
COAX FEMALE STRAIGHT CRIMP MAX | _ SR |\
@ S/ 5 e (| ¥ s { ey W —
]
PART A (9.7)
! SECTION X-X
| =4
90° COAX CRIMP 2 x $3.50 2 x 2.00
SLEEVE A/F HEX SOCKET
BODY ASSEMBLY = 100 W“o
CROSS SECTION |.004>‘ F 90° COAX STRIPPING
LATCHING COLLAR: OF COAX CONTACT SLEEVE DIMENSIONS 3 <
T‘“‘;?ﬁ;fi~___h ORDER CODE: (COAX CRIMP/SOLDER) '7°‘l’ o e onshe msPl 2 bir.os.is) 12566
S | NOTES: ' NAME[1SS. ] DATE [C/NOTE
NSULAToR = M80-4000000FG-XX-XXX-00-000 | " coNNccTORS ARE SUPPLIED WITH CONTACTS LOOSE. —
INNER CONTACT 300" TOTAL o, OF CONTACTS: 2. COAX CONTACT IS SUPPLIED AS A KIT OF PARTS: BODY, INSULATOR AND LATCHING ~ JAPPROVED: M PERREN
02 10 12 COLLAR ARE PRE-ASSEMBLED. SLEEVE AND INNER CONTACT ARE SEPARATE. CHECKED:  S.BENNETT
3. FOR EXTRA COAX CONTACTS, USE PART NUMBER M80-305/306/307/308/309. DRAN.
SPECIAL CONTACTS: - C.PENROSE
A N TP 7 O 80305 4. RECOMMENDED HAND CRIMP TOOL FOR COAX INNER CONTACT = 780-292 WITH e
306 = COAX CONTACT CRIMP 2. 4mm M80-306 POSITIONER Z80-291 AND RECOMMENDED HAND CRIMP TOOL AND DIE SET FOR .
DIMENSION CALCULATION gg; : ggﬂAXC(C)()NTéA((JITTCgTIM(F:’R2.P7mrsnoM§é)r;3g70 50- 303 COAX SLEEVE = 780-293.
z AX NTA IMP/SOL .O0mm M80- - - .
DIM ‘A’ 4 x No. OF CONTACTS - 400 309 = 90° COAX CONTACT CRIMP/SOLDER 2.7mm M8O0- 309 g: Clﬁé)T(Rﬁ(C)MéﬁTsE)E(EFTQQCAT\Flz(E)NA\T/g(I)tABLE?O 290. ASSEMBLY DRG:
DIM ‘B” 4 x No. OF CONTACTS + 5.00
DIM 'C” 4 x No. OF CONTACTS + 10.00 a IFORUATION OF DESCHIFT vt TX"LERi‘fES MATERIAL: TLATlL;éD TJEACCHKNSOCLROEGWYFDEAMTAALMEATAESSY T
.= mm
A e 20 O S ONTACTS. BZUA@ WD N “CrrorceTy G s | X% 2 +0. S0 SEE ABOVE HEX SOCKET J/SCREWS AND BOARD MOUNT
DIM ‘A" = S?Moqgm,zbm O%mm 37.00mm, www harwin. com ‘?“IS¥CELF?BS:ED‘."§GL'?§HN”EFD§§Tcﬂoﬁpil"%o' Xi:ZLESﬂ::Oi'STm FINISH:  SEE ABOVE DRAWING NUMBER: ASHT
: technical@harwin.com TR s et | uniess sTatep [ S/AREA: m2 | M80-4000000FG-XX-XXX-00-000 |




Customer Informatlon Sheet

DRAWING No.: M80-4000000FG-XX-XXX-00-000

SHEET 5 OF 6

IF IN DOUBT - ASK

NOT TO SCALE THIRD ANGLE PROJECTION I

ALL DIMENSIONS IN mm

SPECIFICATIONS:
MATERIAL:
MOULDING: GLASS FILLED PPS,
POWER CONTACT:
BODY - COPPER ALLOY

UL94v-0, BLAC

LATCHING COLLAR = BERYLLIUM COPPER
JACKSCREW, CIRCLIP = STAINLESS STEEL

FINISH:
POWER CONTACT:

BODY, SLEEVE, INNER CONTACT, END PLUG =

LATCHING COLLAR = NICKEL
ELECTRICAL:

WORKING VOLTAGE = 800V AC/DC

VOLTAGE PROOF = 1200V AC/DC

INSULATION RESISTANCE = [00M() MIN

POWER CONTACT:

CONTACT RESISTANCE = 6m() MAX

CURRENT RATING = M80-325
M80-326
M80-327
M80-328
M80-329
M80-32A
M80-32B
M80-32C
M80-PF5

MECHAN ICAL:

DURABILITY = 500 OPERATIONS

POWER CONTACT:
INSERTION FORCE:
MB80-325/326/321/32871329/

32A/32B/32C = 8N MAX

MBO-PFS = ISN MAX

WITHDRAWAL FORCE = 0.5N MIN

ENVIRONMENTAL :
TEMPERATURE RANGE:
M80-325/326/327/328/329/

¢

20A MAX WITH
[ 5A MAX WITH
[0A MAX WITH
8A MAX WITH
S5A MAX WITH
20A MAX WITH
| 5A MAX WITH
[0A MAX WITH
40A MAX WITH

POWER CRIMP AND SOLDER CONTACTS ONLY W80-3251326 1321

x No. OF CONTACTS

K

GOLD

| 2AWG

| 4AWG

| 6AWG
|BAWG
20AWG
12AWG

| 4AWG

[ 6AWG
[0AWG

ONTACT AS SPECIFIED

DIM C’

(@)

F5—4.50—5—

DIM ‘B’

(wa)

|
PART SECTION —= ‘
l-1

4.00 TYP

2 x M2x0.4

DIM "A”
L/'I

=

M80-328/329

x No. OF

CONTACTS

1

/J | 11 ] k\ (14.0) —
|
[ 1 o ! ! AT M80-32A/328/32C M80-PF5
\ /1\ MAX x No. OF CONTACTS x No. OF CONTACTS
X
[l 11 11 [ /
CONTACT 'A'———//
2 x M2x0.4

32A732B732C = -535°C TO +125°C

MBO-PFS = -55°C TO +150°C
PACKING:
BAG

FOR COMPLETE SPECIFICATION SEE COMPONENT
SPECIFICATION CO05XX (LATEST ISSUE)

5.00—'@

R
.80
MAX |

2 x ©3.50

S, —

L
\

|—| EH

==

POWER CABLE

STRIPPING DIMENSIONS

DIMENS ION CALCULATION

DIM “A’ 4 x No. OF CONTACTS - 4.00
DIM "B’ 4 x No. OF CONTACTS + 5.00
DIM "C’ 4 x No. OF CONTACTS + 10.00

EXAMPLE: CONNNECTOR WITH 08 POWER CONTACTS,
M80-4000000FG-08-305-00-000

DIM “A" = 28.00mm, DIM ‘B”’
DIM “C* = 42.00mm

= 37.00mm,

ORDER CODE: (POWER CRIMP/SOLDER)

M80-4000000FG-XX-XXX-00-000
TOTAL No. OF CONTACTS: 4—,_

02 TO
SPECIAL CONTACTS:
325 =

12

POWER CONTACT SOLDER 12AWG M80-325

:H)

(13.9) —

PART
SECTION X-X RECOMMENDED PCB LAYOUT
I DM B —=
2 % 2.00 AJF

HEX SOCKET
2 x P2.25+0.05

NOTES:

CONNECTORS ARE SUPPLIED WITH CONTACTS LOOSE.

MSP 11.05.15) 12566
NAME ISS. DATE JC/NOTE
APPROVED:  M_PERREN

326 - POVER CONTACT SOLDER | 4ANG MG0-326 2. FOR EXTRA POWER CONTACTS, USE PART NUMBERS: CHECKED: S BENNETT
: ) M80-325/326/327/328/329/32A/32B/32C/PF5. DRAWN: C.PENROSE
328 = PONER CONTACT SOLDER OR CRIMP IBAWG M80-328
329 = PONER CONTACT SOLDER OR CRIMP 20AWG M80-329 3. POWER CONTACT EXTRACTION TOOL = 780-290. CUSTOMER REF ..
ggg = gg nggs ggnpg gngEE |2Awg Mggggg 4. INSTRUCTION SHEETS ARE AVAILABLE.
= 90, POW NTA L I 4AWG MBO- 5. RECOMMENDED HAND CRIMP TOOL FOR CONTACTS
NS R T AA S A M80-328/329 = 780-294 WITH POSITIONER 780-295. [ASSEMBLY DRG:
6. POWER CONTACT WIRE, STRIP BY 5.00mm MINIMUM.
a ORATION O OF SR FT TX"LERi‘fnfnf MATERIAL: TITLE: JACKSCREW DATAMATE
B:['A@ WD N oM DENT AL M CORRIa | X, X = =£0.50mm SEE ABOVE HEMX| XsEoDc KTEETC HJN/OSLCORGEYWFSE MAANLDE BAOSASRYD WM|OTUHNT
o UL A0 Mt WoT Btes | X Xk = S0 0vmm
- : : . = x0.0lmm . DRAWING NUMBER: SHT
WWW . harwi n.com OR USED_FOR MANUFACTUR NG, ANGLES = 450 |tVISH: SEE ABOVE 5
+eChn|CQ|@hQrW|n.Com THEI:E;QIRT#?E(P:SEE:H-Q(S)?(];N UNLESS STATED S/AREA: mm? M80'4000000FG'XX'XXX'00'000 0F6




Customer Informatio

Shee

L

DRAWING No.: M8Q-4000000FG-XX-XXX-00-000 SHEET 6 OF 6 | rronvoowst -ask | (© | NOT TO SCALE THIRD ANGLE PROJECTION | ALL DIMENSIONS IN mm
PECIFICATI : ,<f
B PC TAIL HORIZONTAL CONTACTS ONLY - 0223124
MOULDING: GLASS FILLED™RPS, UL94V-0, BLACK 7.40 MAX . N08 032805$ACTS
POWER CONTACT: COPPER ALL :
COAX CONTACT:
BODY = COPPER ALLOY DIM ‘C”
INNER CONTACT = COPPER ALLOY Y
INSULATOR = PTFE
JACKSCREW, CIRCLIP = STAINLESS STEEL DIM ‘B*
FINISH:
POWER CONTACT: GOLD — L2 x M2x0. 4 —- -1
COAX CONTACT: BODY, INNER CONTACT = GOLD 4.50
ELECTRICAL: PART SECTION J
WORKING VOLTAGE = 800V AC/DC [i] -1
VOLTAGE PROOF = 1200V AC/DC m |
INSULATION RESISTANCE = 100MC) MIN [ DIM “A° . }
POWER CONTACT: a N | !
CONTACT RESISTANCE = 6 MAX o
CURRENT RATING: 400 TYP A/ 4.0 | DIM “D
M80-323/324 = 20A MAX \\T\\ ( !
M80-PF3/PF4 = 40A MAX , ,
MECHANICAL: [ ] I ]
DURABILITY = 500 OPERATIONS
POWER CONTACT: , @__ 0.50
INSERTION FORCE: /’/T_ : @D 1.50 = ——

M80-323/324 = 8N MAX
M80-PF3/PF4 = I5N MAX
WITHDRAWAL FORCE = 0.5N MIN
ENVIRONMENTAL :
TEMPERATURE RANGE:
M80-323/324 = -55°C TO +I

55
AX

=

J

bt:h-
a
N

V4
\|

25°C
M80-PF3/PF4 = -55°C TO +150°C
PACKING:
TUBE

FOR COMPLETE SPECIFICATION SEE COMPONENT
SPECIFICATION CO05XX (LATEST ISSUE)

2 x M2x0.4

OBSOLETE

Il

N——

PART --{

SECTION X-X

ORDER CODE:
(FEMALE HORIZONTAL POWER CONTACTS ONLY)

M80-4000000FG-XX-XXX-00-000

TOTAL No. OF CONTACTS:

02 TO 12

FEMALE HORIZONTAL POWER CONTACTS:

323 = 20A POWER CONTACT PC TAIL 3.5mm M80-323

324 = 20A POWER CONTACT PC TAIL 5.0mm M80-324

PF3 = 40A POWER CONTACT PC TAIL 3.5mm M80-PF3

PF4 = 40A POWER CONTACT PC TAIL 5.0mm M80-PF4
DIMENS I ON CALCULATION
DIM ‘A A x No. OF CONTACTS -4.00
DIM ‘B 4 x No. OF CONTACTS + 5.00
DIM C 4 x No. OF CONTACTS + 10.00
DIM 'D° M80-323 = 3.50mm, M80-324 = 5. 00mm
DIM F” M80-PF3 = 3.50mm, M80-PF4 = 5. 00mm

[: CONNECTOR WITH 10 POWER CONTACTS 3.5mm,
M80-4000000FG-10-323-00-000

© 2 36.00mm, DIM ‘B” = 45.00mm, DIM ‘C" = 50.00mm

DIM ‘D" = 3.50mm

M80-PF3/PF4
x No. OF CONTACTS

~=—17.40 MAX—==

|
|
— 11.80 !
I | MAX | DIM “E-
]
SPECIAL CONTACTS HIDDEN FOR ILLUSTRATION ONLY \, @2.00
SEE ORDER CODE FOR PART No. TO BE ASSEMBLED \
2 x 2.00 A/F
RECOMMENDED PCB LAYOUT FOR
HEX SOCKET POWER CONTACTS: M80-323/324
DIM ‘B°
o MSP 2 P1.05.150 12566
4.50 f=——DIM ‘A 4.50 NAMEJIsS. | DATE |c/NoOTE
APPROVED: M.PERREN
100 ﬁ4.oo TYp _
.00 4.00 TYP CHECKED: S.BENNETT
l DRAWN: C.PENROSE
$$$$ $$$$ CUSTOMER REF .
@1 .65£0.05 TYP @2.2540.05 TYP B2.15£0.05 TYP B2.2540.05 TYP ASSENBLY DRG:
= 'M"AFT‘T’FE'I“STS")E%:: DHEEQRCDER;'\NHA'RVEE TXOLERé:ICES - TIMT |L>E<ED TJEACCHKNSOCLROEGWYFEMTAMATAESSY WITH
.= mm
B:['A@ WDN COBROPERTY OF ToE mamwin | X.X = £0.50mm SEE ABOVE HEX SOCKET J/SCREWS ANDBQARD MOUNT
LT THRL I T SR
) B . - . mm N
. horwin. con " BRI [ s - s [l SEE ABONE o "
+eChn|CQ|@hQrW|n.Com THEI:%‘RT#?E?%E:’LE??&N UNLESS STATED S/AREA: mm? MBO'4000000FG'XX'XXX'00'000 3



wpreston
Line

wpreston
Line

wpreston
Text Box
OBSOLETE




